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Problem 1. In this problem we are going to work a bit with the continuity
equation.

a) Show that constant density implies the fluid is incompressible. That is, show
that p =cte. = V.u=0.

b) Now consider an incompressible fluid. Show that this implies that the La-

grangian derivative of the density is zero. That is, that % = 0.

This means that the density of a fluid particle, which moves with the fluid, has
constant density. It does not mean that the density of a fixed fluid region is
constant. In fact, for incompressible fluids, the local (or Eulerian) rate of change
of the density is related to its spatial variation, that is, % =—9-Vp.

Solution for a):

The continuity equation is

op L
a—l—V-(pv)—O.

By imposing p = cte., we obtain:

0+pV-T=0 = V.7=0.

Solution for b):
An alternative expression for the continuity equation shown in theory class is as follows:

dp

— V.-u=0.

i +p U

This was derived easily by using the identity for the divergence of a scalar fields times
a vectorial field, and also by using the definition of the total derivative (also known as

material derivative).

Since the fluid is incompressible, this means that V - ¢ = 0, and therefore:

dp
= =0



Problem 2. In this problem we are going to work a bit with the equation
of motion of a fluid. That is, with Newton’s second law applied to a material
particle.

a) Start by using index notation and showing that

V - (ptv) = pv - VI + 0V - (p0).

Solution:
The j-component of the right-hand side in index notation is:

(RHS); = pvidivj + v;0;(pvi) = pvidivj + vivj0ip + pv;Oivi,
and the j-component of the left-hand side is:

(LHS)j = 8i(p1]ﬂ}j) = ’l)i’l)jaip + pvjai’l)z' + pviawj.

Both expressions are the same Vj, so (LHS) = (RHS).

b) Then use what we called in class Reynolds’ transport theorem, which is
nothing but Leibniz’s rule generalized to 3-dimensions, together with the
continuity equation, to show that

d dv
— vdv = / — dv
dt /V(t) P V(t) Pt

where we have written V(¢) to emphasize that the volume co-moves with
the fluid.

Using this result, Newton’s second law applied to a material particle be-
comes:

i - oV

bk V-5= v
P ff=fr+ o= < Y + 7 - v>
where we have used the relation between total (Lagrangian) and local (Eu-
lerian) accelerations in the last step, and the fact that the stress tensor is

symmetric. This equation governs the behavior of all continuous matter.

Solution:
Via Reynolds’ transport theorem, we have:

d

%/ pvdv—/ O (p?) dv+/ (U-n)pvdS =

_/ <—|—v) dv + (U-n)pvdS =
v(t) oV (1)

— Eq. of continuity

—/ p—dv—/ (pv dv+/ (U-n)pvdS =
V(t)

— Divergence th.
dv

= p— dv — / (p¥-n)dS + (U-n)pvdS = / p— dv
v dt AV (t) v (t)
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c) Let’s now consider a fluid. We first separate out of the stress tensor the part
corresponding to the pressure stresses, which are the only ones acting in the
absence of acceleration, that is, for a fluid at rest or in uniform translational
motion. Then:

Oij = —p5ij < O’éj
where ¢’ is called the viscosity stress tensor, which is the part of the stress
tensor resulting from the deformation of the elements of the fluid. Since & is
symmetric, and so is —pI, the viscosity stress tensor o' is also symmetric. In
addition, ¢’ = f(e), where 5_: f+d is the strain rate tensor [remember G =

grad ¥ = € +w|, with ¢ and d its spherical and deviatoric parts, respectively.

Show that for a Newtonian fluid, the ij component of the viscosity stress
tensor is:
i = Aijriext = 2Ae;; + Beydy;

where A;jj; is a fourth rank tensor, and A and B are fluid properties. We
call A the viscosity (we usually denote it as 1), and define £ = %17 + B as
the second viscosity.

Hint: use that fluids are isotropic; this imples that A;;,; is an isotropic
tensor. Then use that ¢’ is symmetric. Note this proof mimics the derivation
of Hooke’s law for linearly and isotropic elastic materials.

With these definitions of n and &, we have:
/ 2
o =1 | 2€i5 — gell% + Eeydij.

We then see that for incompressible fluids: o;; = 2ne;;.

Solution:
Since A is an isotropic tensor, it must be expressed in terms of ¢;; (2nd-rank isotropic
tensor) for it to be independent of the direction of the axis:

Ajjit = 1045081 + 20105, + €300 ;-

Also, since we know that ¢’ is symmetric, this means cs = c3, and then:

Aiji = €10i56p1 + c2(0irdjt + 6i1djk)-

Let’s call ¢; =: B and ¢y =: A. This lets us conclude:

/
01 = Agjraers = (104501 + c2(irdji + 0adjn))ers = c1dijepr + c2eij + caeji =
— & symmetric

= 2A6ij + Belléij'



d) Use index notation to show that the divergence of the viscosity stress tensor
is:
V.5 =V + (g +g> V(V 7).
Using this fact, we arrive at the Navier-Stokes equation, which is nothing
but Newton’s second law (or the equation of motion) for a Newtonian-fluid
particle:

p(?;t)—i-ﬁ-Vﬁ) = f—Vp+nV2ii+ <g+§> v(V - 9).

For incompressible fluids, we then have:

ov =
p((;t}—i-ﬁ'-Vﬁ) = f— Vp+nV2.

For fluids at rest or in uniform translational motion this equation becomes
the usual equation describing hydrostatic equilibrium: f = pg = Vp. Note
that this equation is also nothing but the expression of mechanical equilib-
rium: f +V.ol = f + V -G = 0, considering ¢ is symmetric and that for
fluids at rest or in uniform translational motion o = —pI.

There are other interesting forms and limiting cases of the Navier-Stokes
equations; we’ve discussed some of them in class.

Solution:
The right hand side can be transformed into the following expression:

4
RHS — (;7 +§) (V(V-5) = 1V x (V x ),
so the j-component of the right hand side in index notation is:

4
(RHS); = (;7 + §> 0;0;vi — NE jbcOpEcdeOqve =

4
B (3:7 + f) 0j0ivi = 1 jbee cdeDpdive =

4
N <?j7 - 5) 9j01vi — 1(05a0be — 05e0ba) pOave =

7N

4
377 + f) 0;0;v; — 10406 Op0qve + 105e0paOp0gve =

4
= (?:7 + 5) 9;0ivi — n00jvy + NOsOhv; =
= (T4 ¢) ;0001 + 10y,
= 3 1 UiV T10OpOpVj -
The j-component of the left hand side in index notation is:

2
(LHS)j = &-Ugj = 0; (77 (26@' — 36”5@‘) + felldz‘j) =

4



=7 (8,-8]-% + @'aﬂ)j — §8j61v1> + 58]81@1 =

= (g + g) 0;0;v; +NOpOyv; = (RHS)j'

Problem 3. Consider the interface between two “real” fluids. We stated in class
what the boundary conditions are for both velocity and stresses in this case. We
wrote the continuity of tangential stresses at the interface as: (71-7)-t = (a2-7)-£.

a) Start by showing that the condition can be written as:
(@1 -7) -t = (05 7) -1,
where ¢’ is the viscosity stress tensor.

b) Now consider that the fluids are incompressible, that the interface lies in
the zz plane, and that ¥ is locally (near the interface) along the z-direction
and a function of the y-coordinate only [0 = (vz(y),0,0)]. Show that the
continuity of tangential stresses can be written as:

nlﬁyvg) = ngﬁyvf).

c) If g1 > n9, sketch how the velocity profile for both fluids will look like near
the interface.

d) How will the velocity profile look like if fluid 2 is an “ideal” fluid?

Solution for a): )
By definition we have that & = —pI + &’. Therefore:

G-7)-t=@Gn) t+pI-7)-t= (5 n)-1

since all the off-diagonal components of I are zero.

Solution for b):
Let’s reproduce the proof done in class. In either one of the fluids we have

— AN = 1 AN N
Vi = 0yv.(y)ji — e = §8yvm(y)(jz +17).
Since ¢’ = 2ne, we obtain:

&' = n0yva(y) (i + ij).

Finally, imposing the boundary condition which we proved in section a), taking into
account that 7 = j and choosing ¢ = 7, we have:

myvi) (y) = mdyol? (y),
which is what we wanted to prove.

Solution for c):
Since n1 > ng:
8yv§31) < 8yv:(62).



[y +]

Figure 1: Sketch of the velocity profile when n; > 9.

Solution for d):
If fluid 2 is an “ideal” fluid, this means 72 = 0, and therefore:

8yvg(cl) =0,
(@)

and this means vy * will be constant locally near the interface.

We don’t have more information about fluid 2, so we don’t know its velocity profile.
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Figure 2: Sketch of the velocity profile when 7 = 0.



Problem 4. (Water flowing down an inclined solid surface behaves as a Newto-
nian incompressible fluid.)

Consider the flow field shown in figure 1.

a) If the velocity profile takes the form

oo ()]

where U is the velocity of the free surface, determine the constants a and b.

u=U

b) Confirm that the flow is incompressible.
c) Is the flow irrotational? If not, find its vorticity.

d) Compute the magnitude of the shear stress that water exerts on the solid
surface and on the free surface.

.

Solution for a):
Let’s impose the boundary conditions to determine the constants. Since there isn’t slip
at the interface between the solid and the fluid, we have:

At the free surface, we can apply the boundary condition written in the problem state-
ment:

U=uly=H)=Ub-1) = b=2.

Therefore:

Solution for b):

Solution for c):

i Oy u 0 1 ol
Vxi=|j 8, 0= d.u :<—2UH+2UI§2>I<::—H<1—IZ):7I)7EO.
k o, 0 —dyu

Therefore, the flow is rotational.

Solution for d):
Since € = (V¥ + (V#)T), we have:

2nU
= awy:nayu:?_[(l—]?;).



In conclusion:

Problem 5. In this problem, we are going to look at planar Poiseuille flow.
Consider two parallel plates separated a distance a along the y-axis and a New-
tonian incompressible fluid of density p and viscosity 1 that flows between them
in the positive z-direction. The flow is driven by a pressure difference Ap applied
over a length L.

a) Show that the velocity profile is:
Ap| 1
vo(y) = ‘Lp oW =)

b) Obtain the flow rate per unit length-along-the-z-axis, Qiength-

Qlength
a

¢) Show that the average fluid-speed, which is , is equal to % the maxi-

mum speed.

The flow rate and the cross-sectional area are often used to obtain the character-
istic speed of the flow. In this problem, Qength and the plate-plate separation a
define a characteristic speed U, which is (vg).

Solution:

Due to the symmetries of the problem, we have ¥ = v,(y):. As we are in a 1D-flow in a
stationary state, we have that d,p = ¢, which means:

_Ap

Oz
P=-7

If we impose the Navier-Stokes equation we get:

0=f-Vp+nVii =

A
T = n0yyvs,

= Oyp = —pg,
0.p = 0.

By integrating twice the first equation we get:

0:1)$<0):—Cf2 — 02:0,
Ap a? a Apa
0: = —— = _ = = —
vz(@) L 2n 6177 ATy



and thus:
Ap y? . Apay

valy) = 7277 L 2n ‘ (ay = v").

Q:/AE 'dg://oavw(y)dydz .

The flow rate is:

3

Ap| 1 (@ 9 Ap| a
== — dy = |— .
Qlength ’ I 277 / (ay Yy ) Yy = I 1277
Finally, we have that the average fluis speed is:
Ap| a?
Ux 0 a ’/ Qlength ‘ I 1217
We can get the maximum speed by imposing;:
a max Ap
v;(y):0:>y:§:>vwa— 7 877'




